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A Fi LR AR H KB AE tEhRe TN )
JLiRG HAFRK 5 s Aol ] R e ] EA] EEH SEH () [ (&)
%] 50, 523] 109, 997] 53, 381] 56,616 69 85 36 63 99 121]  419] 298 0 113 113
HI—TH 719 1,452 693 759 5 4 1 1 0 2 4 2 1 4 3
F T H 601] 1,368 681 687 1 3 1 2 1 3 6 3 -1 0 1
FLL=TH 477 1,023 491 532 2 0 1 1 0 1 3 2 -2 1 3
JubAaEt 1,797 3,843] 1,865 1,978 8 7 3 4 1 6 13 7 -2 5 7
s n—1H 503 950 442 508 0 0 -1 0 1 3 4 1 -2 0 2
#eora T H 775 1,696 811 885 1 5 -1 0 1 8 11 3 -2 0 2
SR —TH 579 1,326 636 690 2 4 -2 0 2 3 4 1 3 3 0
e w1 H 403 880 446 434 1 1 0 0 0 1 2 1 0 0 0
SN 633 1,290 621 669 -3 -6 -2 0 2 —6 0 6 2 2 0
e BN T B 241 478 247 231 1 1 0 0 0 1 1 0 0 0 0
Rt H 711 1,730 846 884 -1 2 -1 1 2 2 7 5 1 1 0
g\ T H 404 848 392 456 3 3 -1 1 2 4 4 0 0 0 0
B NILT B 649 1,506 733 773 1 4 1 1 0 3 4 1 0 0 0
e naEtl 4,898| 10,704 5,174 5,530 5 14 -7 3 10 19 37 18 2 6 4
HeerBn—T1H 369 792 387 405 5 7 -1 0 1 8 8 0 0 1 1
ks T HL 1,048 2,097 1,047] 1,050 2 5 -1 2 3 7 10 3 -1 0 1
WSy R =TH 673 1,346 655 691 2 2 -1 1 2 1 4 3 1 1 0
HaE o Et 2,090 4,235] 2,089 2,146 9 14 -3 3 6 16 22 6 0 2 2
Mk AT H 567 1,229 598 631 1 1 -1 0 1 1 1 0 1 1 0
Mk A _TH 361 913 456 457 -2 —/ -2 1 3 0 0 0 -2 1 3
MR =TH 264 561 289 272 2 3 -1 0 1 4 4 0 0 0 0
s RN TH 564 1,290 654 636 0 0 -3 0 3 2 4 2 1 1 0
s aaEt] 1,756 3,993 1,997 1,996 1 0 -7 1 8 7 9 2 0 3 3
SELigY] 385 817 390 427 -1 -1 1 1 0 -2 3 5 0 0 0
HoE ) — T H 201 414 201 213 -1 0 0 0 0 0 2 2 0 0 0
HOEEFI T H 469 990 482 508 6 7 0 0 0 7 8 1 0 0 0
HOEE) T H 753l 1,761 859 902 -2 0 1 2 1 0 3 3 -1 0 1
HOEESOPI T H 901 2,165 1,087 1,078 2 3 1 2 1 -1 4 5 3 3 0
HOEEO T H 453 1,029 524 505 1 2 -3 0 3 5 7 2 0 0 0
OSSN T H 403 844 409 435 -2 -2 0 0 0 0 0 0 -2 0 2
HoERIIE T H 686 1,429 703 726 -2 -1 -2 0 2 0 2 2 1 1 0
HOEESOSE| 3,866 8,632 4,265| 4,367 2 9 -3 4 7 11 26 15 1 4 3
vEEEsI| 1,532 2,688 1,285 1,403 0 -3 —/ 0 4 -2 5 7 3 3 0
FHIAR 313 630 322 308 1 -1 0 0 0 0 3 3 -1 0 1
I g — T H 564 1,111 519 592 0 4 3 4 1 1 4 3 0 0 0
EFIA g T 260 495 235 260 -1 -2 -1 0 1 -1 1 2 0 0 0
BRSO =T H 543 1, 150 576 574 0 -1 1 2 1 0 4 4 -2 0 2
EEFI g0 T 668 1,318 631 687 1 3 0 1 1 1 4 3 2 2 0
IO T H 245 547 267 280 -1 -3 —4 0 4 1 1 0 0 0 0
EEA A3 2, 2800 4,621 2,228 2,393 -1 1 -1 7 8 2 14 12 0 2 2
EB AR — T H 7340 1,417 665 752 1 0 -1 0 1 1 11 10 0 1 1
EEFIA AT — T H 728l 1,354 608 746 5 10 -1 2 3 8 12 4 3 6 3
TEERETAE] 1,462 2,771 1,273] 1,498 6 10 -2 2 4 9 23 14 3 7 4
IR 277 761 411 350 0 0 0 1 1 1 1 0 -1 0 1
HHR—TH 755 1,638 803 835 -2 -2 1 1 0 -2 0 2 -1 0 1
AR T H| 1,726] 3,861 1,857| 2,004 6 4 0 1 1 -1 19 20 5 8 3
HHIR=TH 901 2,217[ 1,081 1,136 1 2 1 2 1 4 6 2 -3 1 4
HHRPY T H 509 1,185 550 635 -1 ~7 -1 0 1 -2 1 3 -4 0 4
PR EEH 3,891 8,901 4,291 4,610 4 -3 1 4 3 -1 26 27 -3 9 12
EHR—TH 739 1,571 763 808 2 4 2 2 0 19 30 11 -17 0 17
LR TH 989l 2,287 1,157[ 1,130 -3 -1 -1 3 4 0 9 9 0 2 2

LR =TH 529 1,076 548 528 11 10 0 0 0 11 15 4 -1 1
JbdREE| 2,257 4,934] 2,468 2,466 10 13 1 5 4 30 54 24 -18 3 21
HRORTHT 324 788 372 416 1 2 0 0 0 2 3 1 0 0 0
WIE | 1,674 5,099 2,283 2 816 5 10 -1 5 6 16 11 6 7 1
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JLi I 5 i s Aol Bl Rl e e EAl EsHl SEH (H) [ (=)
MAE—TH 806l 1,814 883 931 0 -1 -2 1 3 2 5 3 -1 0 1
e T H 801l 1,815 909 906 4 6 1 1 0 5 6 1 0 2 2
MAE — 1 H 654 1,496 734 762 8 7 0 2 2 3 6 3 4 5 1
F#E T H 939 2,174 1,038] 1,136 2 3 0 1 1 0 4 4 3 4 1
ICENNE 697 1,520 743 777 3 3 1 1 0 -1 5 6 3 5 2
F#E ST H 429 960 433 527 4 -1 -2 0 2 0 4 4 1 2 1
mEaR 4,326  9,779] 4,740 5,039 21 17 -2 6 8 9 30 21 10 18 8
L 590( 1,144 558 586 1 3 -1 0 1 6 9 3 -2 1 3
g —TH 318 661 317 344 -1 —4 0 0 0 —4 0 4 0 0 0
i = 603l 1,300 618 682 0 -3 -1 1 2 -1 3 4 -1 0 1
S E 921 1,961 935| 1,026 -1 ~7 -1 1 2 -5 3 8 -1 0 1
Ei—TH 345 755 384 371 0 0 -1 0 1 2 3 1 -1 6 7
= 689 1,418 676 742 —4 -3 1 2 1 -2 2 4 -2 1 3
=T H 43711 1,073 536 537 0 0 0 0 0 -2 2 4 2 2 0
BEhaat 1,471 3,246 1,596] 1,650 —4 -3 0 2 2 -2 7 9 -1 9 10
K E— T H 389 910 432 478 -1 -2 -1 1 2 2 2 0 -3 0 3
e T H 450] 1,061 522 539 -2 -3 -1 0 1 -1 0 1 -1 3 4
== 870l 2,091 1,051] 1,040 1 5 0 1 1 -1 3 4 6 6 0
HA)EM T H 446 996 477 519 2 2 -1 1 2 2 6 4 1 1 0
HHE R T H 851| 1,801 881 920 -3 —4 1 1 0 -2 3 5 -3 0 3
W) E ST H 249 488 239 249 -1 -1 0 0 0 0 1 1 -1 0 1
HESE 3,265  7,347) 3,602 3,745 —4 -3 -2 4 6 0 15 15 -1 10 11
<HBEL—TH 599 1,297 626 671 -3 -5 -1 0 1 -5 1 6 1 1 0
<HBEIL—TH 726 1,452 715 737 3 2 -1 0 1 1 6 5 2 2 0
CHEL=TH 516 1,097 534 563 3 0 -2 0 2 3 7 4 -1 0 1
<HBEWPUT H 586( 1,171 569 602 -2 -2 0 0 0 0 4 4 -2 0 2
<HBE AT H 274 559 294 265 -1 -3 1 1 0 —4 2 6 0 0 0
<EEFE 2,701 5,576] 2,738 2,838 0 -8 -3 1 4 -5 20 25 0 3 3
HEAIT—TH 825 1,686 829 857 4 0 0 0 0 1 9 8 -1 3 4
PIEAN T H 488 1,129 580 549 1 0 0 0 0 2 2 0 -2 1 3
WIEARTAEH 1,313 2,815 1,409 1,406 5 0 0 0 0 3 11 8 -3 4 7
s 433 811 396 415 3 5 -1 0 1 3 4 1 3 3 0
ek n—TH| 1,215 1,893 867 1,026 9 21 1 2 1 22 31 9 -2 2 4
ok A _ T H 613 1,092 524 568 1 1 2 3 1 -1 3 4 0 0 0
oSk R=TH 748 1,797 848 949 3 1 -1 1 2 1 11 10 1 1 0
sk AT H 425 856 415 441 0 6 -1 1 2 -2 3 5 9 9 0
gk aeEt]l 3,001 5,638] 2,654 2,984 13 29 1 7 6 20 48 28 8 12 4
FRIREET 20 48 25 23 0 0 0 0 0 0 0 0 0 0 0
Ry 7351 1,696 813 883 —4 -8 -3 0 3 -5 1 6 0 0 0
GREA ] 332 708 321 387 1 1 0 0 0 1 3 2 0 0 0
A — T H 453 1,078 531 547 0 1 0 0 0 1 3 2 0 1 1
ReEE T H 425 915 459 456 0 -2 0 0 0 -1 3 4 -1 0 1
WA A g 878l 1,993 990( 1,003 0 -1 0 0 0 0 6 6 -1 1 2
PaeEE— T H 713 1,448 724 724 0 1 -1 0 1 3 5 2 -1 0 1
P T H 516 1,232 574 658 -3 -3 0 1 1 -2 1 3 -1 0 1
VR A Et] 1,229 2,680 1,298 1,382 -3 -2 -1 1 2 1 6 5 -2 0 2
P A e 313 682 349 333 0 -1 0 1 1 -1 0 1 0 1 1
AR 203 456 244 212 -9 -9 -1 0 1 -8 1 9 0 0




